
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

7543.8 × 0.01 = ________ 9685.2 × 0.01 = ________

6146.6 × 0.1 = ________ 3293.2 × 0.1 = ________

4667.8 × 0.001 = ________ 1320.2 × 0.0001 = ________

8122.9 × 0.0001 = ________ 3551.9 × 0.0001 = ________

8533.3 × 0.1 = ________ 5986.5 × 0.001 = ________

3886.3 × 0.1 = ________ 3998.8 × 0.001 = ________

8349.4 × 0.01 = ________ 2101.4 × 0.01 = ________

9101.9 × 0.0001 = ________ 5543.1 × 0.0001 = ________

5737.1 × 0.001 = ________ 4297.2 × 0.001 = ________

1272.1 × 0.1 = ________ 4009.9 × 0.01 = ________
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